S olution

Math 133, Quiz #6

1. Compute the integral
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2. Determine whether the following improper integral converges or not. Ex-
plain your reasoning.
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3. Compute the integral ‘

/2
/ cos® zdz
—7/2

5% - 5% __ﬁ'_ Bz - S = /4()(’))7‘-5.

—

X 2 Ax+ (x-n* X~ "6
Xei = 8o5 5 x=0 > 0z-A@ = Assa5. T
0
ffx dic. /’a+£ dnc = \x*l-—
x 2 2x+l x-t  (x—)*
= Sl lil-5 5“%\94-’—-) =1 - n’@‘g
\ .ot
o, A > S——"":ezy Md’/’ i
6«% Neex Nex k /\[
ok /\m

W on L1, DO) @bscvwb
_X/p = g [,mw )
C o= um(a?@ )\ So fe AOC yﬁa

|

) ez L

SW‘MQ, ﬁ /\/;—x
By e Daish Lomperidn L




I\
SAN




